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Name: Date:

EOC Practice Problems

1. Consider the equationsy = 2x-3andy = -x + 6. 1)(-3 ) 4 U)‘—XJr(o
A. Create a table for each equation. -3 ; q
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B. Is there an ordered pair that satisfies bofh equations? If so, what is ite

They will intersect ot (3,3)

X= Quarters Nickels

2. Rebecca has fwgcoms worth 65 3. Peg and Larry purchased “no

cents in her pocket. If she only has
guarters and nickels, how many
quarters does she have? Use o
system of equations to arrive at your
answer and show all steps.

contfract” cell phones. Peg's phone
costs $25 plus $0.25 per minute.
Larry’s phone costs $35 plus $0.20
per minute. After how many minutes
of use will Peg's phone cost more

" DG(X'fy than Larry's phone? zl;x;.z{,‘ Mﬁ%
+os =5 #Peq=.26x ves X | T
i 05-)( - 05:_, - Z5 \,LQY{Y = ‘ZOK+35 F_O_G -673'
20X = _i X=2 (2 3> Y= 200
-2 w2 Y=z Peqs phone will tost more if she uses more
4. Is (§, -lfﬁ a solution of 5. Solve this sys‘rem 6. Solve this sys’rem+ fr%i?\i‘\%
this system? x[-3y/= 6 i&_{: 10
y=2-% + By =16 x+4&=-8
3 -2y =2 o0+o0:=12
-1z 72-3 3-20N)=23) 0;? } s e
—lz-\  3t2:={ frue Stotement so folse statement
v 5= “‘R“‘Jref‘ﬂ Sy So no
No nofa solvtion Solutions. Soluhon

/. Each week, Tim wants to increase the number of sit-ups he does daily by 2 sit-ups.

The first week, he does 15 sit-ups each day. No 0 teyrm

Write an explicit function in the form f(n) =

ups, f(n), Tim does daily in week n.

Q= |5
Az =\
mn + b to represent the number of sit-
A3=1q
FXphcn‘%’ Formula.
Gnc Q¥ din-1) £(M)=72n+13

anz15 + 2(n-1)

An=
An =

\5+2n-2
n +1?
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8. A manufacturer keeps track of her monthly costs by using a “cost function” that
assigns a total cost for a given number of manufactured items, x. The function is
C(x) = 5000 + 1.3x.

A. What is the reasonable domain of the function? (O‘ o2) Because X =

¥ of (fems & yow Would Not make - & of items.

B. Whatis the cost of 2000 items?

C(2000)= 500041.3(2000) = $7600
C. If costs must be kept below $10,000 this month, what is the greatest
number of items she can manufacture2 5000 +1.3x £ 10000
Need to make 3546 or Oess jteme |.3x% & 5000
; X ¢ 35d.Z

9. Consider the first six terms of this sequence: 1, 3, 9, 27, 81, 243, ...

v
A. Whatis @12 What is a13? %;: q

B. What is the reasonable domain of the function2 (I }OO)
nzdomain=nthteym=1,2,3,4,5,06,. ...

C. If the sequence defines a function, what is the range? () )60)
Range= ferms= 1,%,4,17....

D. What is the common ratio of the function?

Rz2:4_-121-8l_ 7245 _
i CR e T

10. A company uses the function V(x) = 28,000 — 1750x to represent the amount left to
pay on a truck, where V(x) is the amount left to pay on the truck, in dollars, and x is
the number of months after its purchase. Use the table of (months, p %
values shown below.

(0,Y)=y-intercept

A. What s the y-intercept of the function in terms of 0 28 000
the amount left to pay on the truck? e e
(0,28,000) means You pupchased teuck foe $28000 1 26,250
B. Does the graph of the function have an x- 2 24,500
intercept, and if so what does that represent? 3 22 750
X-intercept = (x,0) will be +he month when o —
bwe not mrg foz truck 4 21,000
C. Does the function increase ordecrease? e
decrease as x>0 5 _19.250

! Rt

11.This equation can be used to find h, the number of hours it will take Flo and Bryan
to mow their lawn.

Gh +6h = &

“(5-) 3 e,

How many hours will it take them to mow their lawn?e dhlo

|
A. 6 hours B. 3 hours @ hours D. 1 hour
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12. For what values of x is the inecwali*f\?(:z3 +§- > 1)rue?

L +2X
2T 23

%+x>3

; -2
A x<] >1 c.x<5 X>I D.x>5

13. Look at the steps used when solving 3(x - 2) =

3 for x.
3(x-2)=3 Original Equation
Which step is the result of combining like terms? - 6=3 Distributive Property
A. Step 1 3x-6+6=3+6 ﬂddf'lg‘@,g] POE
Step 2 _ Collecstoolike
3x=9 ollecste il
C. Step 3 X sy
D. Step 4 3x/3=9/3 Divisisiep 3 PO E
x=3 Step 4

14. A manger is comparing the cost of buying baseball caps from two different
companies.

A. Company X charges a $50 fee plus $7 per baseball cap. 7—7)( +50
B. Company Y charges a $30 fee plus $9 per baseball cap. 0= q X. +20

For what number of baseball caps will the cost be the sgl]me %bo’rh o;npanies?
Y4+i0= 50
-x =30
o B. 20 C.40 2x=10 D. 100
L = X=lD

15. A shop sells one-pound bags of peanuts for $2 and three-pound bags of peanuts
for $5. 1t 9 bags are purchased for a total cost of $36, how many three-pound bags

were purchased. 21X 45y =3 ol oy = 3
’Y("%ﬂ”b‘if 2K YY= 1 s ab.

A3 A IR .18

16. Which function represents the sequence?

2 3 4

(&

10 | 17 24 31

A. f(n)=n+3 No © term Un® 347 -]
B. f(n)=7n-4

C.f(n) =3n+7 Bn= G, tdn-1) On="In-4
D. f(nj=n+7 an,; ?)"'7(0“()
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17. Look at the sequence in this table.

1 2 3
1 1 '3 5 7

LY

4

o

Which function represents the se Ue\nge? :
P }{ §5° 42 Recursive

A. On=0an-1+1 an: a.n-| +d
B. =Qpn-1+2
(& o= a1 42 Ons Qo Y2

D. Gn=20n—!“3

18. Which functions is modeled in this table?

A. f(X) =x+7 oY \
B. f(x)=x+9 O\r\:aﬁC(n—t)
Syl 218 Gn=g43in-) 5 Tar P3| Same use
Oe= $+32n-3 Ku_\ence, gi&
U=mkx+b

19. Which explicit formula describes the pattern in this table?

A. d=3.14xC RoC, = £(5)-£(3) _150-942.
B. 3.14xC=d 5-3 ol 3 9.42
. 31.4x10=C 230
éc=3.14xd > | 1570
Y:: hnex 10 31.40

20.Juan and Patti decided to see who could read more books in a month. They

began to keep track after Patti had already read 5 books that month. This graph
shows the number of books Patti read for the next 10 days and the rate at which
she will read for the rest of the month. N . ,

Number of Books

"

If Juan does not read any books before day 4
4 and he starts reading at the same rate as 5 /P ‘H'
Patti for the rest of the month, how many e W)

books will he have rea by day 122

5%

Books
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) —
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